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SECTION-A

Question numbers 1 to 12 carry 1 mark each.
e AET 1 F 9T 12 (7 AreTete YA 1
o qEd 1 (U 12 75 areiEiee yemee 1
I L.C.M. (01,26)-182, then H.C.F. (G1,206)-- 1

@ A AL & (91,20) 182, el AT (01, 26) =

afv 5. AL ¢ (91,26)=182, T AAT (91,26)=

() 13
(b) 26
(c) 7
() 9

According to Euclid’s Division Lemma, given two positive integers ‘a’ and
‘D, there exist unique integers ‘@’ and ‘r’ such that — 1
37 Fema drafae Tre vbl FigE uAe R ‘e @ b R gaifms em 9
VBRI TG WM g U dife e

Tefpcen Frsrem wrafea e 715 4R wae RN ‘@’ GR D FEA YT LAY

wis ufEsm wee WA g7 @A v AR R —

N

(@) a=bgq+r, QO<r<b
(b) a=bg+r, Q=r<b
{c) a=bgqir, O0<r<b

(d) a=bg+r, O0O<rs<b
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Il the graph of the polynomial y= f(x) intersects X-axis at lwo points,

then number of zeros of f(x) is —

i

we y = flx) Tem afmbr ErerE X-ww 5Bl fee (@ @ e [(x)% =7

w2 ¥ —

a Y= flx) wem af e @b X-oww 7% e oF am wwA f(y) -

“TeTi AW ZE —

(@ O

(b) 3
(c) 1

(dj 2

One root of a quadralic equation is 2 and sum of the two roots is 0, the

cquation is —

&5t frare e @61 A 2 U SE eE G 0, TS 29 —

&l fure AR 9afb Y 2 <ax 79 1 qire 0, wiewel 7 —

{a) xt+4=0

L]

) x*-4=0
(c) 4x>-1=0

(d) x*-2=0
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o

AABC is an isosceles triangle in which £ZC=90". If AC'=6cm, then
AB = ' 1

- ABC 5| FHfaaie f&ee a'€ £C=90°. 9" AC =6 &fi, (efsat AB =

ABC @l ufgare fage @A £C=90". I AC=6 ¢ifi, SIms AB =
(a) 62 cm (&F.) (G1f)

(b) 6cm ((Bf.) (GLAL)

(c) 26 cm (¢&FL.) (¢if3.)

(d) 42 em (CBFL) (GLAL)

6. The mid-point of the line segment joining the points (-6,5) and (-2, 3)
a
is [5:4], then a= 1
' a
(~6,5) @R (-2,3) T @AASE AR [§= 4] T, ad 99 T =
a
(-6,5) R (-2, 3) B AT @RS R (5, 4] T, af AWM T3 =
(a) -4
(b) —-12
(c) 12
(d) -6
B16-GM (EN/AS/BN) (4]
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7~ Valuc of sin()cos(QO" —(})+ cos(}sin(QO" --0) is —- ' 1
sinOcos(90° -0 )+ cososin(90° -0 ) 7 M 24 —

sintcos (90" -0 )+ cos0sin(90° - 0) ~a2 =W 7A —

(@ -1
(b) O
(€ 1
(d) 2

8. If the altitude of the sun is at 607, then the height of the vertical tower
that will cast a shadow of length 30m is — 1

4 Tafe 60° 2, 30 £ tada o Teojg 941 TEY TS 9b4 Tl 39 —

wHa Tafe 60° @A, 30 e g Teoin =1 @Sio Cord TrEa Twel aEd —
fa) 15m (f.), (A.)

0
m L @) @

(¢) 152 m (Ri.) (f.)

[d) 3043m (F.) (F.)
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9. If the circumference of a éirclé is 44 em, then its arca is — 1

a5 g Ay 94 (wfil TeA, TaE FfFH v —

a-%m gre Yifaf4 44 cLAL WA, 9a A T —
(@) 276cm” (@f2) (GLAL2)
(b) 4d4em?  (¢rfr?) (LRAL2)
(c) 176 cm?® (%hi2) (eLAL2)
(d) 154 em® (@hL2) (GLAL2)

10. The volumes of two spheres are in the ratio 64 : 27. The ratio of the
surface arca is -——

uGl (SiiF4 QITeaq SEAT 64 : 27 | ke ~fhaifam were T4 —

%G CSUerrs UMSER TS 64 : 27 | SIHA 2aifaa SRjeire =@ —

(a 1:2
(b) 2:3
fc) 9:16
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mean 1s —

BT €L T4 W IEF VAT 33 TG 45 T, AH 2T —

= SUR F4El AR 42T ARG 33 R 45 @A, g T4 —

(a)
(b)
(c)

(i)

30

11. The median and mode of a data are 33 and 45 respectively. Then its

1

12. A number is sclected from the first 100 natural numbers. The probability
that the number is divisible by 7 is'— ‘

1

A9 1005 FrEtiRe AAMNA 2441 GO 72 (4l T4 | RATHl 7@ [F=iE @ram weiwe

79 -

409 1007 reifis Al (s 9o R @en B WA 7 Ak Ferey zena

weliTel A —
(@) ';0

B o

() =

(d) 110%

B16-GM (EN/AS/BN)
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SECTION-B

13. Prove that 3.4+2./5 is irrational.

2
A0 T (@A 34245 SEEGE |
 HEE A @ 34245 SEm
14. Find the 20th and 25th terms of the AP - 3, 8 13, 18, ............. 2

WEs wsfs 3, 8, 13, 18, ............ A 207 Yl 25€T 2 Fo1 TFE A
=
— - f‘-.- o W %
ez 29ife 3, 8, 13, 18, ..., 9@a 207 GR 25T 27 Y6 (7= Al | <
<
2
15. Find the value of k, if the following points arc collinear : 2 2
o]
]
N oo
&g {9 (9E51 @FET T kT W e 2
o
o]
Fva Frqels ol s k- W @ @ e 2.
5
‘ _ =

(7,-2),(5,1),(3,k)
16. Given sinA:g. find cosA, tan A, cotA and secA. . 2

4
&

fral e sin A =%, cosA,’tan A, cot A Sl% secA Tfaear
W SE ANz sir1A=-§-, cos A, tan A, cot A R secA & ¥4l
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18.

19.

Prove that : ' . 2
SR L I | R

pap | L I 4

cos N l+sinA
1+sinA cos A

=2sec A

Show Lhat — : 2
yedl @ —

@Hls @ —

sin30° +tan 45" - cosec60° 43 - 2443
sec30 + cos60” + cot 45" 11

A lot consists of 144 ballpens of which 20 are defective and the others
arc good. Nila will buy a pen if it 1s good, but will not buy il it is
defective. The shopkeeper draws onc pen at random and gives to her.
What is the probability that o 2

()  She will buy it ?

(i) She will not buy it?

144751 FE2R 20 9@ A1 9502RTS 200] oA (T W0 i ASIAE I | Te1E G5
e &FR iz % ofF @ O @@ T e o agivee e ol @
Hifrm ok wize e | gl & ane

(i) <z azhl Fee

(i) % 9Ll e
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14410 “FicowE @6 TR 201 o Aol G SRR O (T @@
feara afw i S = @9 Ame TE B o veeEmiEa sFvngeei winm  af

axir7e1 fust 1| @wa Feomst & @
i e fFeiEe

(i) =1 Q% feacd e

SECTION-C

20. Obtain all other zcros of 2x? —3x% - 3x%? +6x -2, if Lwo of its zcros arc

J2 and —J2. 3

oyt - 3x3 —3x2 4 6x—2 A AR WbEAE e EEeal, 4 TR 9o P 2 i

—J2
ox - 3x? _ 3x? + 6x —2 97 GARB FAGCEA! <Y & A, A0 G4 7B J2 @

~J2 =

21. Solve L.he following pair of lincar equations
wo i AR TR AAE 41 |

frrcoa TR ATFACEEER AR Sl

4x+9y =5, 3x-5y=39
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Find the roots of the following cquation : , 3
TEE WAEAEbE g4 Ada w=i

fiva s Eaciba g fadfa o

x? - 3x-10=0

Find the naturc of the roots of the following quadratic cquation. If the
rcal roots cxist, find them. 3

wre e faaie Amanbia =g el fadfa @ afi arza 3= aice Gigram e

frmeve faure wemdtn Tem agte fFofa @ 1w @iz 9 A simE @a @)

2x? -6x+3=0

or / @37 /

Sum of the arcas of two squares is 468m®. If the difference of their
perimeters is 24m, find the sides of the two squares.

751 4ofa wife caisma 468 1 | ufw a5 wor ARSI 2ok 24 A T (S CE 46‘(
wBlq 4z e TEea;)

o wset e catsrrst 468 .2 | afr 2ol wiba s e 24 5 =, it asf e
Al i <@ AT -
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24, How many terms of thec AP : 9, 17, 25,
their sum is 636 ?

3

9, 17,25, ccocvon.... FarEE A5TEHE % 636 ARt e TEG oM 5% ka2
9, 17, 25, .ccvenn.. FECEa 2Asifefta TR 636 (7re A Tl oM frs wa 2

Or / ST / 5

A sum of .Rs.700 is to be used 1o give seven cash prizes to students of
a school for thcir overall academic performance. If each prize is Rs.20
less than its preceding prize, find the value of cach of the prizes.

G RviierR We-gd) Feee fwmefe cFge el ~FWRfeE ara g5 700 Ta[
ASH! w19 4719 Za%i@ W sl 21| afq 2SIl 2a=@e g1 S SsAamtelE 20 5a 3
=, (SEREE ARGl sFEEa e Fda =)

gl FEca Pa-uEhaE SIoE SIS Rrste srmRier @ s 700 Bier el

a9 2FER e =@ ) alw Al ~wicm 7 oR Tsrta (= 20 TRE 39 =, ST
afsfs ~aaa s Fda w5

25 Diagbnals AC and BD of a trapezium ABCD with AB||DC iptcrscct cach

other at the point O. Using a similarity criterion for two triangles, show
OA OB 3
aL —=——. ' . -
that 5¢ ~ob :
. . "‘\ + -

ABCD GRPRmErR AB||DC i AC % BD < Full= e O FHe (2 A
C 5 = orled (1 24 = 95,
wh! faeea @ AP 55 T RS oc - oD
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ABCD BiAREAIGR AB||DC @9 AC @4k BD % w8 »@F=m O Frqrs a #0)

) OA OB
7T Ty e s <€ amza wm oele @ Sa = 22
i fae 1T A 42 5

26. Check whether (5, -2), (6,4) and (7, -2) arc the vertices of a triangle.
Il so, name the type of the triangle formed. 3
(5,-2), (6,4) 3™ (7, -2) F4=251 GBI faged Ty i N 2= 7t =,
LT (o g4 faee ol = w@ an e
(5,-2) (6, 4) 9= (7, -2) Fysf o fagrea T G o G a1 «fv= 2@
1 22, v Gl @F mem faew wm, wm A TR

27. Find the arca of the shaded regmn in the following figure, where ABCD
is a squarc of side 14cm 3
ware vl foam umgifre wweemsm =il Thsa, o' 14 (gl AT ABCD 961 a5{=e7 |
frseme maﬂbvrﬁrrumﬁawﬁ(rn@ﬁ) (3 FAN, QRN 14 Gi.f3. A ABCD
w45 asioral

A 3
D C
B16-GM (EN/AS/BN) [13]
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SECTION-D

Solve the following pair of equations by reducing them to a pair of lincar
cquations. 4

$Fd AT (4 @R A=A FARA S| A T34 |

-

frsa sladcmurE calsE AANEars oM @ ANLE ==

Or / 9dqr / Y4y

9
A fraction becomes 11’ il 2 is added to both the numerator and

denominator. If 3 is added to both the numerator and the denominator,

5
it becomes -(—) Find the fraction.

_ 9
1 SURTS A A TR T TSACT 2 (A A L (STL SURAB R 77 1 U o

5
2 TOAE 3 (IS $A1 T (ST SIHTH gd < | el Sfeisat | -
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P‘ =5l . ] - o
20 TURM A TR et 2 Tt A 2 @ wet @, o o ;g—l?*‘” T
%4 @R 7 TeR@A A w THIT > |3
3 st = 2, Sz el 1 1 2Rl e aran

29. In a right-angled triangle, prove that the square of hypotenuse is equal

to the sum of the squares of the other two sides. 4
A<M fegoe, aad <=1 @ Ufcssa a9 TR 9B 412 a5q @IsEe AW |
oaie] @ wal W fagre aftstan 290 @ 9% e sl creER

Or / J< [/ S

ABC is a right-angled triangle, right angled at B. AD and CE arc the

3J5

medians drawn from A and C respectively. If AC=5m and AD = _2—m,

wod pieoquuesse mmm//:dny

find the length of CE. http://www.assamboard.com

war® (455 ABC 4 B @0 AD GFe CE &+ A ¥R C 4 731 J45l T
375 4 tueft frefn @

AC - 5 . 2% AIJ-—-—-Q_-ﬁi. CE4 i foefe

ABC 9= waredt fagrea Bﬁ“ﬁ"‘i (1 AD €42 CE T Ad&T= A &R CA (0F

e wumaEs | AW AC =5 e AD= qJ‘ far. za, <w@g#A CEA iy fefa =@

Conlt«l.
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30.

Two poles of equal heights arc standing opposite cach other on cithor
side of the road, which is 80 m wide. From a point between them on the
road, the angles of clevation of the top of the poles are 60" and 30°,

respectively. Find the height of the poles and the distances of the point

from the poles. 4

Bl 80 Fibi «ze1 A1 QARG >l Twei w6l 26 ZBira Fibica AYAaEl ¢x o

i e | 4121 A6 ¥BM e g B =11 %S yor el o1 i NS 60" S
30", UG yor Bt vk 4 9o w41 Frsia we Fefm dar)

a6 80 Ribre eyl arel s e Twer Wi 4 et waiite TP 203
wifera v arzid 4% 107 waa 9= fem cace 46 e Tiefa Safe e azm

60" @R 30" | 46 ¥T6a Twel gz 46 5 cacr Fgba wayg Befar «cr

31. Two tangents TP and TQ arc drawn to a circle with centre O from an
external point 7. Prove that ZPTQ =2 ZOPQ. 4
@Bl aRefry T 24 O cruE GBI A TP U TQ FSIA Toixlas Bl 25 | 2=l¢) 1
@ £PTQ =2 LOPQ.
9O1 4z T3 (AF O rarye Gal6 € TP G TQ WS 2P Blell 2 | 2=ttt T
G /PTQ =2 LOPQ .

B16-GM (EN/AS/BN) [16]
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Or / 5%l / &2l

In the following figure, XY and X'Y’ arc two parallel tangents to a c.ir_clc
with centre O and another tangent AB with point of contact. Cintersecting

XY at A and X'Y'al B. Prove that ZAOB=90 .

e fhas O @IS IF XY T X'Y' YEFE FIEAE “<F Uk “2{Fq C© Ui
GQEH 44 AB Gl XY % AT UM X'Y'4 B €405 o9 @4 (@ ZAOB =90

five g 0 @age gr@ XY oR X'y 3T FHEEE vopfs g A Ce

veii €206 *2mE AB - XY-& A-(S @R X'Y'(F B-(T (F & | A4 <001 @

£ AOB =90",

X< P A >Y
- O
()
X’{ Q B O’yr

Construct a tangent to a circle of radius 4em from a point on the

concentric circle of radius 6 em and measure its length. Also verifv the

measurcment by actual calculation. ' 4
6 (&%, “iFRa QFeEs FEhia @Bl g A 4 @A aEme FErE e Tl

U FE R Gl FHWE AFE AEE TF @ A 29
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33.

6 oLl fﬁl‘-‘r“{fl'd?l et elba @B frg cicE 4 eLAL e ‘T4 o 956 Trle
Kl ‘-Ii‘-"! e | HeE A SR ATl (57 Wiel AT B!

SECTION-E

A tov is in the form of a cone of radius 3:-5Scm mounted on a hemisphere
of same radius. The total height of the toy is 15-5em . Find the total

surface arca of the toy. S

AB1 & A ATAHTE GO VST GAe 3 -5 (gl AT Bl *p 55 |
of<HITBM S TS T 15-5 (L fil | Ao=siE Ja #poled Fefa =)

=B ofed 9T aEdye g udnsiEeed eea 3.5 eLAL Ay E awib o =mrs
sifye | Zfwmla 6 Twel 15-5 LA egAba b opplE (caEs) facfa

Or / @5t / |4t

A cylindrical bucket, 32 em high and with radius of basc 18 om, is fillied
withh sand. This buckct is emptied on the ground and a conical heap of
sand is formed. If the height of the conical heap is 24 cm, ind the radius

and slant hecight of the heap.

32 (& f g w18 (mf gfieie GER @B e wigfen @i wifFna <tz wing)
2 TG Wb e =R 1S @B 7 e w5 B 25 | =it wiphea Wit Twet
24 (&[4 Z(A, DA AAG Gl CERIN T Fefa <= |

B16-GM (EN/AS/BN) [18]
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34.

32 Cif T @318 L S i RRig g3l Siean UrFea arfe s =a
Tz 98 AEfeG it A Tare @b g <

a1 va 2 =7 | *m wgfen weiia
THEl 24 (7.f, TeA, *%fHa A qay fedr Swvet fiefa wE

If the median of the distribution given below is 28-5, find the valuecs of

x and y. S
" Class 1nLervo.I 0-10|10-20{20-30[30-40 | 40-50 | 50-60 | Total
Frcquency 5 x | 20 15 ;y S 60

== [AoreE war 4 285, (S0 x W ya Wik Sfae |
=t w@a= ¢ |0-10 [10-20 [ 20 -30 [ 30 -40 | 40 50 | 50 - 60 | Ja
| <msrel 3 5 [ x 20 15 y 5 60
“pa faorer@ wgw aft 285 T, oRE x @R y-9F T @@ WAl |
=d wwamE ¢ |0-10 |10 -20 |20 30 |30 -40 [40-50 [ 50 -60 |cio
?nq\:-naﬂ 3 5 x 20 15 y 5 60

B16-GM (EN/AS/BN)
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